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QUESTION 1

Given the code fragment: What is the result?

System.out.println(l0 == 10 && ! (5 != 5));
System.out.println(l0 < 8 | | 10 > 2);

A. true true
B. true false
C. false false
D. false true

Correct Answer: A

13

14 - public class Test {

15 = public static void main (5tring[] args) {

16 System.out.printinflé = 18 && ! (5 !'=517;
17 System. out.println(lé < B 18 > 23;

18 1

19 %

JDK 11.0.4 w

CommandLine Arguments

Result
CPU Time: 0.14 sec(s), Memaory: 30944 kilobyte(s)

true

true

QUESTION 2

Given:
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public class Test {

int wvarl; f/f line nl

public static void main (String[] args) {
int var2; // line n2
Test ob] = new Test():
int var3 = var2 + obj.varl;

System.out.println{var3):;

What is the result?

A. Compilation fails. To make it compile, replace line n1 with varl = 0;
B. Compilation fails. To make it compile, replace line n2 with var2 = 0;
C.0

D. Nothing is printed.

Correct Answer: B

QUESTION 3

Identify two features of Java.
A. architecture dependent

B. platform independent

C. single threaded

D. robust

Correct Answer: BD

Reference: https://www.javatpoint.com/features-of-java

QUESTION 4

Given the code fragment: What is the result?
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String flavors[] = {“Vanilla”, “Chocolate”};
int choice = 2;
switch({choice) {

case 1:

System.out.println(“Selected ™ + flavors[1l] + ™ flavor.”);
break:
case 2:

System.out.println(“Selected ™ + flaveors[2] + ™ flavor.”):;
break;
default:

System.out.println (“Thank you!”):;

A. Selected null flavor.

B. Selected Chocolate flavor.

C. An ArraylndexOutofBoundsException is thrown at run time.
D. Selected Chocolate flavor. Thank you!

Correct Answer: C
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ke

13~ public class App {

14~ public static veoid main (String[] args) {
15 String flavers[] = {"Vanilla”, “Chocolate"};
16 int choice = Z;
17~ switch({choice) {
18 case 1:
19 System.out.println{"Selected " + flavers[1l] + " flavor. ");
28 break;
Z1 case Z:
22 System.out.println{"Selected " + flavers[Z] + " flavor. ");
23 break;
24 default:
Z5 System.out.println("Thank you!");
Zb ¥
27 1
Z8
23 }
JDK 1104 W Interactive Stdin Inputs

CommandLine Arguments

Result
CPU Time: 0.14 sec(s), Memory: 30980 kilobyte(s)

Exception in thread "main® jova.lang.ArrayIndexOut(OfBoundsException: Index 2 out of bounds for length 2
at App.main(App.java:22)

QUESTION 5

Given: What is the result?

public static wvoid main (String[] args) {

boolean valuel = 10 + 5 >= 2 4+ 13;
int wvalue? = 0;
if (valuel == true) {

value2 =5 * 3 + 10 f 2;
} else |

value2 =5 / 3 + 10 * 2;
}

System.out.println (value2);

A. 20
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B. 32

C. A compilation error occurs.
D.21

Correct Answer: A

1
14 = public closs Test
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{

15~ public static void main (5tring[] args) {

16 boolean valuel - 19 + 5 == 2 + 13;
17 int valued = @;

18 - if (valuel == true) {

19 valueZz = 5 * 3 + 10 / 2

0 - 1 else {

21 valueZz =5 /3 + 10 * 2;

£2 }

£3 System.out.println (valueZ};

24 1

FAT

JDK 11.0.4 W

CommandLine Arguments

Result

CPUTime: 0.13 secls|, Memory: 30344 kilobyte(s)

0
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